ICS 103-02 Quiz#03 Key (Term 102) (4%)
1. [8 points] What is the output of the following C program fragment?

int total   =   46, k = 2;

while(k <= 15){
   total -= k;

   printf("%d   ", total);
   k += 4;

}
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2. [8 points] What is the output of the following C program fragment? 
      int k, m;

  for(k = 4; k >= 1; k--){

     for(m = k; m >= 1; m--){

         printf(“%d”, k);

     }

      printf(“\n”);

   }
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3. [8 points] Convert the following while-loop into an equivalent for-loop:
int k = 400;

while(k >= 50){

  printf(“%d   ”, k);

  k -=  35;
}

int k;

for(k = 400; k >= 50; k -= 35)


    printf(“%d  ”, k);

4. [16 points] The original price of a car is 90000 Saudi Riyals. At the end of each year, the price of the car decreases by 5% of its price at the beginning of that year. Write a complete C program that displays the price of the car at the start of each year in which the price is more than 40000 Saudi Riyals. Your program must also determine how many years it will take for the price to be less than 40000 Saudi Riyals. Assume that the car is bought at the start of a particular year.
Sample run of the program:
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Nunher of years for price to be less than 48808 is: 17
The price is: 39611.40 Saudi Rivals




#include <stdio.h>

int main(void){

    double price = 90000;

    int yearCount = 1;

    printf("YearCount:  Price (SAR) at year start:\n");

    while(price >= 40000){ 

          printf("%2d\t%12.2f\n", yearCount , price); 

          price = price - price * 0.05;

          yearCount++;  

    }
    printf("\nNumber of years for price to be less than 40000 is: %d", yearCount);

    printf("\nThe price is: %.2f Saudi Riyals\n", price);

    return 0;
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